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(15%) 1. Find a general solution of y"+2y'+y=e"cosx.

(15%) 2. Find the Laplace transform of cos’z.

2 0 -1

(15%) 3. Find the eigenvalues and eigenvectors of |0 05 0

1 0 4

(15%) 4. Evaluate the line integral [F-r'(s)ds by Stokes’s
theorem (clockwise as seen by a person standing at the origin),
where F=[-5y4x,z]; C the circle x*+y* =4, z=1; r'= dr/dsis

the unit tangent vector; s is the arc length of C.

COSWX
E+w
= dx
=1+ 4x"

(20%) 5. Evaluate the integral r

(20%) 6. Evaluate the integral




